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MATHEMATICS
x4 2nx + [im + 3
61. The probability that the roots of the equation
nurmibers where n EN suchthat n = 5is

a) /s b} 4/5
€1 1/5 d) %5

= 0 are not real

B2.IF A i5 area lying between the curve y = co5 x and x-axis between x = Oand x = W2,
then the area of the region between the curve ¥y = cos'x/2 and the x-axis in the same
interval is given by

B) (W4+ANZ B) (WfA)+A
) (WI2}+A d) (Ta)+{A/2)
ix
53, "':‘fdx is el to
a} 2 b} -2
e 40

B4, If the area bounded by the curve y = f(x}, x-axis and the ordinates x = land x = b is
(b - 1) sin[3b + 4), then f(x] is

a) [(x-1) cos {Ix+4)] b} [sin{3x+4) + 3{x-1) cos(3x+4]]
) sin [ 3etd) d} Mone

65. The coefficlant of %17 in the expansion of {1 - < ' (1 + x}* s

a) 15 b) 20
c} 10 d1 6
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&6. Which one of the following ks TRUE far any x

| 1 i 1 1 1

% T &) = m"‘m
1

O e d) —_ L

#ﬂ

o
&7.The order and degree of the differential equation ¥ —-xE = 31_._' is
apl, 2 b} 1,4
€} 1, 5v2 dy1, 3

68.The general scdution of the differential equation [1 + e Vx4 &M (1l dy = 0
ig

a) ¥ + xal™vi=g b) x + ye* =g
€) % + Camyaith d) y + yel®vi=C

63. The triangle with vertices A = (2, 7), B = {4, vy} and C = (-2, 6} is right angled at B if
thee value of y is
a) 10 or-3 b) -10 or -3
c)10ar3 di9or4

?I:I.‘I'hcmmuldlmhmthethmllnﬁx+y =l,y=landx=1lis

a} (_ﬁ- -% b} (+1|=i -+
€} ('i'i. _ﬂTE @ (+1"f' 1."!)
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71, The eguation of the line mid parallal to the twe lines 5x - 2y - 9 = D and 5x - 2y + 7= 0is
aA)x+ 5 -B=0 b) S =y =1 =0
g} 2x-5r-6=0 d) 5x-2y-1=0

72.The strabght line 3x + 4y + 4 = 0 5 moved parallelly so that its distance from the paint
{3, -2} is increased by 4 wnits. Then its equation in the new position is
8) 3 +4y-30=10 b3 +dy-24=0
cyI+ 4y -2 =0 d)3n+4y +24=10

73.Ifa, b, care AM, GM and HM respectively of two equal numbers, then
ajb=a+¢ b} b = 2ac f (a+c)
¢} bt = ac djabt=c

74. The harmoenic mean of the roots of the eguation is
(V- B+ VT x+ {12+ 2v7 ) =0
a) B b} &
c)3 d) 4

75.The general solution of x satisfying the system of equations 555l - 1.
eIt o € i5

aynwtms b) 2ZnT+ W/

) nir-( Ti6) d) nW+T/6
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76.The angles of a triangle are in AP and the least angle is 40% The greatest angbe in
ranfians is

a) w2 b) 4m/o
) T4 dj 3m/2

77.10 5inB=1/v'5 and tan B=1/2, then Cos B ts aqual o

a) 2/v's b) 1/v3

DL d) 1/(2v/5)
78.The value of :f‘u (142" + Stnx) Yeame g pouaito

8j1 by et

t} e 'd]' ',1.ﬂl

79, Rolle’s Thearem for f{x) = x(x-3)e'* s applicable in the interval
a) (0, 3) b) (0, -3)
) (-3, 3 d) (3, 0)

80. Equation of the normal ta the curve y={1+x)* + Sin"{Sin’ x) at x = 0 is
a)ly=x b}y-x=1
cly+u=1 djy-1=32x

B1.1f A and B are two matrices such that AB = & and BA = B , then A~ B* =
a) 2 AB bl A~ B
A +B d) 2 Ba

H-Tmsvmmufllmaremﬁmsx+35r+t1+2‘,|1=!).2:+1f+a:-ﬂ,
3x + 5y + 10¢ = 0 has non-trivial solution, when 2 iz

a) -2 b 2
c) 4 dj -4
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B3.1f the roots of the equation ax’ + bx + ¢ = O -are in the ratio 2 : 3, then
a) 6b% = 25 ac b} Bb* = 25(a+c)
£} 130” = 6 ac dj 13+ 6ac=0

84.1f @and Bare adjacent sides of  paralielogram with | + B|=|@ - B|, the adjacent
sides of parallelogram are

a}) perpendiouar b) inclined at an angle of T3
c) parafie! d} inclined at an angle of /4
85, The scatar Bo{@4) % (4+5+8)} is equal to
a)(d,5,8) 5)0
e d,B,81+ (5.8 d) (d,B,8)+ (B,&,d)+ (2,45

B6, The equation of the line passing through the point of intersection of the lines . and which

x-l__r-l_z-‘zmdi_z_z; is perpendicular to the plane
1 o 1 g 1 1

Sx-y4+9z=10 is

ay X_y=1 Ea by E L
3 1 9 5 =1 9

o) X_r¥1_z+1 dy BN GEST
T T P T
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87.The equation of the plane through the intersection of the planes 2x

“Y¥+Z=680
X4y + 22.= 7 and passing through the point (1, 1 1} s
ay2x-Fy=-52+10=0 b)2x -7y + 52 +10 = 0
Cldx-Fy=-5:-10=10

di 22+ y-5z-10=0
BB. The equation of the lne passing throu

gh the point (1, 1, 0) and parallel to the plisw
M+ +rmEig
=1 =1 5 x+l »+l =
— e 2 B — T
" B EETy i
v 0 i 97 =3 w=p 1
c) 3 2 1 d] a1—=TnT
mmeunnhbmnthcmplunuhbnm2+xm-?ks
a) i b} w4
c) W2 d) 34

4
90. What Is the vaive o #+5(~3+15) 4 3(-1+ ‘g]m

ay it by A2

2

9 & T
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91.The ratio between the number of ways we can BITANGE N pirsons in & creular manner bo
the number of ways we can arrange them in a line is

a) 1:n b n:l
)11 d) 1:2

M.Amamuf&mﬂuﬁgmmanman,hmmurwhlmmemm5anar.he
ather only 4. In how many ways can they travel?

a) 274 b} 26
c) 126 d) 96
92. The number of cammen tangents to the circles «* + v - 4y = Dand ¥ + v - 2y = O is
a) 4 b) 2
€} 3 dy i
9. Centre of the circle passing through (4, 5), (3, 4), (5, 2) is
a) (92, 72 b} (7/2, 9/2)
ey (72, 72} d) (912, 9/3)

2 =
95.1f &; and e; are the eccentricities of a hyperbola and its conjugate than®i T2 will be

a) 1 b)  afel

1 1
A 9 Gta
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6. The equation 4x® + 7y’ + 32x - S6y + 148 =0 represents
a) an ellipse with center (4, 4}
b) an ellipse with center (-4, 4)
) an edlipse with center (2, -2)
d} an eliipse with center (-2, 23

97.The equation for the circle obtained by shifting the circle »° + ¥ = 49 to 3 units down
and 2 units left is:
2) (x+3)F + (y+2)7 = 49 b} (-3 + (y-2F = 49
o) (:2)* + (y-3)" = 49 d) {(m+2) + (y+3) = 49

98. The variance of a data set is k, then the variance of the data set obtained by shifting th
original data to 3 units is
a)k=-3 b}k + 3
ol k d) 3k

99. Suppose that P (A/B) = 0.7, P(A) = 0.5 and P(B) = 0.2 then P(B/A} s,
a) 0,14 b} 0.4
¢) 0.3 d) 0.28

100. A medical test is capable of identifying someane with the illness as positive s 999%
and someane without lliness as negative 95%. If the illness is present in the general
Population with probability 0.0001, the probability for anyone to have iliness when the
madical test results positive is

a) 0.0000% b) 0.002
c} 0.0001 d} 0.9980
Spoce for rough work



